

EDDO at k=0 (multi-variable, added 2019-06)

March 31, 2019 8:18 PM

Compute $[e^{F(z)}]_{\lambda} := e^{\lambda \partial_z \partial_{z_i}} e^{F(z)}_{\lambda} = e^{W_{\lambda} + F_{\lambda}^j}$

$(\partial_x W + \sum_j \partial_x F^j) e^{W_{\lambda} + F_{\lambda}^j} = \partial_x e^{W_{\lambda} + F_{\lambda}^j} = \partial_x e^{\lambda \partial_z \partial_{z_i}} e^{F(z)}_{\lambda} = \partial_z \partial_{z_i} e^{\lambda \partial_z \partial_{z_i}} e^{F(z)}_{\lambda}$

W, F^j depend on z, λ but not on λ

$= \partial_z \partial_{z_i} e^{W + F^j}$

$= \partial_z (F^i e^{W + F^j})$

$F^j(\lambda=0) = F^j$
initial condition

$= (\partial_z F^i + F^i \partial_z W + F^i \partial_{z_i} F^j) e^{W + F^j}$

So $\partial_x W + \sum_j \partial_x F^j = \partial_z F^i + F^i \partial_z W + F^i \partial_{z_i} F^j$

So $\partial_x F^j = F^i \partial_{z_i} F^j$ *

one variable from here on
 $\partial_x W = \partial_z F + F \partial_z W$
 characteristics for *:

$\frac{d\lambda}{dt} = 1 \quad \frac{dz}{dt} = -\phi \quad \frac{d\phi}{dt} = 0$

$\lambda = t + a \quad z = -\phi t + b \quad \phi = c$

$F(\lambda, z) =$

$F(0, \phi\lambda + z)$

take $a = \lambda, b = z$
 $t = -\lambda$

If $F = f(\lambda)z$, get

$f'z = f z f$

$f' = f^2$

$f = \frac{1}{1-\lambda} \quad f' = \frac{1}{(1-\lambda)^2}$

$\partial_x W = \frac{1}{1-\lambda} + \frac{z}{1-\lambda} \partial_z W$

$W = \log(1-\lambda)^{-1}$